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1. —BEHTFHOMTRIR

® A (B4 FH) B® (B F M)
R =] FHEEEE| IMAKEE [IAZE(%) # =] FHEIEEE| XHFE | BITE(%)
1 HT *ﬁ, 480,589 501,595 1044 1 ;% % % 64,206 63,063 982
2 FE 5 B 23,959 16,421 68.5
SHFEZ M2 1105 815 738 2% B &l 1314220 854,748 65.0
ARSEAXRMGE 1,151 168 14.6 3R 4 B 783211] 736967 94 1
5 HAZREFHESIRGE 1,252 0 0.0
6 thEERZAE 57178 57178 100.0 4 £ H®| 406868 359,234 88.3
7 Eiﬂiﬂyﬁﬁﬁﬁﬁ 7,157 4,916 687 5 % E}] % 7,492 5,441 726
8 A 4% Bl % 2 1,194 1,194 100.0
9#h A X f+ B 1,670,733 1,670,733 100.0 6 ZMKEEE| 316078 286,526 90.7
10 RBREHRRA S 0 0 00 78 I &| 114244 110496 96.7
11 HELRUVEIES 24,959 22,134 88.7
12 ERHRCEHRS 38,650 34,796 90.0 8 K ®| 200439 163164 56.2
13E & X H & 621,562] 416,983 67.1 o f5 B 274603] 269,187 98.0
148 X H £ 511,492 251,800 49.2
1581 2 U A 22,071 21,306 96.5 0% & &| 227835 209,437 91.9
16 :§ Kﬁ. % 6,188 6,189 1000 11 /A E % 405y576 403,372 995
178 A = 722,912 721,763 99.8
1868 # 2 31,607 31,607 100.0 128 X Wb = 339157 338574 99.8
198 IR A| 244388 113,051 46.3 3% & =B 51.875 0 00
20 HT & 127,658 127,658 100.0
& &t 4,595,805| 4,000,307 87.0 a g 4,595,804/ 3,800,209 821
2. KM EESHFPHOMTRR
® A (B4 FH) B® (B F M)
= B X 5 | PEIRMEE| IMAKFE |IRAE(%) =B K 5 |FERHEE XZHFE |RITE)
ERBEERERSE| 1,071,468 870,875 81.3 ERBEERENEEH| 1,071,468 904,663 84.4
NERBRENSE 549,377 454,786 82.8 NERERBFENEE 549,337 448,802 81.7
FTAREEZENSE 202,760 24,595 12.1 FTARESZHER ST 202,760 158,461 78.2
HHEREERENSEH 45,796 40,199 87.8 HHE R EERER S5 45,796 44,278 96.7
KEE X £ G 141,766 131,874 93.0 KE E £ £ 5 208,788 193,410 92.6
& &t 2,011,167 1,522,329 75.7 =1 it 2,078,149 1,749.614 84.2
3. AIAMEDORR 4. AIEORR
iz Al H " B = &t X o) B " B
+ h 4.827019m — % = 5 5,041,948 FH
Fe ) 55,102 TKEEZEEH AN & E 1,396,479 FH
H # = 738,385F M XK & EF X £ i 938,908 FH
= il 3,453,586 FH & 5 7,377,335FH
5 —RKEAEORER 700,000F M
6. IRAEDKHA
X a2 ¥ 5 B E BE1 ALY 1HFELY A0 5879A
Br B 228,123FH 38,803 90,203F| & 252914
B xE & EMR 168,539FH 28,668 66,643M| X EROETR. HHS-YOLEHEF
B = 1 C % 73,024F M 12.421H 28,875/ | ETRFHBEENETNO AKTRLL:
Z O fth O BT %i 10,903F M 1,855 4311[| RED-0. REBALERGYET .
& Ha 480,589F M 81,747M 190,032 | OMUL\aht LTERERZR HBE




